EARAROBEEIERT — 2 N— IBISH —F

2014568280 (£) 4EIKR1E

Ll C 2+ mufE o5 R—k ‘ (%] 2 ‘ (rsml  — | & (h) 13000 B
[AE£] 1% :120,000 8  2#&:24,000 M  33%&:12,000 M  43%&:9,000 3 ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. HER 126. -3-2- . — #HER (KR)
i NEIDECE LS # o9 fit 1(2_6)4 3-32-3 | 41.0 2 :1528) EE
R:FaLN—H b= BXA—bI>TIlL RTAS
ST > 4 | BBXIE 1:26.4 2-2-2-2 | 4.1 | — 4 409 | FEF= (BER)
2 o | IR 56.0 (727) (-3 | BEHEH
LT RIA Y L—> BAATTEHY BEXZY K
N N s 4 | ROB— 1:26.4 7-7-7-5 | 40.0| — 7 402 | ERAE (KR)
2 4l IF /Y- 54.0 (A5%) (+4) ’E‘Eliﬂ
R:ZZAHNZAZIH B:IX%/RIS=7) Hhezis
- O R ft 5 | BERMEE 1:26.4 1-1-1-1 | 41.3| — 5 444 | FREEFD (KGR)
4(g|g| "¥=>70FU— 5.0 (757) Gy | EHER
L:IF7YN—FK B:¥v=> by ROY ER fiBh
) _ AIPIE -96. 54— . - FEFS= (BERE)
slilq|z2=rn—FF250 B 7 xE 1(12/62)5 6-5-4-4 | 40.5 6 (4_0;) P
Ry IRELR BiYLahsUF ERS
S i SV > TFH* :27. —6-6- . — =ER (KR)
N BPECEII £ 6 i 1(237)0 5-6-6-6 | 40.8 1 (4+736) pEE
QYLK YIYRIR BXE—TILT =¥ T L
P . 5 | AffiE 1:27.7 8-7-8-8 |40.8| — 8 440 | RINBE KR
7 3| Ty v XAZA =2 e 54.0 (4) o) | B) A=257
R:TTyIR—Y BAN—UARIE— RS
— . o SSARRRIE :28. ~4-4~ . - REEFD (FKIR)
8l5l5|¥v=Lyz—n it 6 S 1(268)7 4-4-4-7 | 42.9 3 (4_718) [
Ly h—K—a B:¥v=>714-J EHE {iBh
@ 1—F—@&BIEf
13=zr= 8,2,6,5,7,1,4,3
20—F— 8,2,6,5,1,7,(3,4)
33—7F— |8,(2,6),(1,5),7,4,3
41—+ — 8,2,6,1,4,7,5,3
[ RN
B OB 6 360 714K 2-6 530M B E 2-6 910M &R 2-4-6 8,290
8 B 6 160 4-6 960M 4-6 1,860M JEH 6-2-4 13,300M
2 360M 2-4 2,210/ B H 6-2 1,160M 6-4-2 15,660M
4 300 6-4 3,160M

ABICOVWTRDTEEERROODE. TR LIV,




